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— 1 | Company structure

Before you read

Discuss these questions.

1 How many different ways of organising or structuring a company can you think of?
Think about departments, products and markets.

2 If you work for a company or organisation, how would you describe the company structure?

Reading tasks

A Understanding main points

Read the text on the opposite page about the different ways in which companies are organised
and answer these questions.

1 Four main kinds of organisational structure are described in the article. What are they?
2 Is one kind of organisational structure more common than the others?

3 When did ‘delayering’ take place?

4 What were the reasons for delayering and what were the results?

5 How does Julia MacLauchlan describe Microsoft’s organisational structure?

B Understanding details
Match these definitions with the four organisational structures described in the text.
1 Across-functional structure where people are organised into project teams.
2 Astructure rather like the army, where each person has their place in a fixed hierachy.
3 Astructure that enables a company to operate internationally, country by country.
4 Astructure organised around different products.

C Understanding expressions

These words and expressions are used in the text to describe different aspects of organisational
structure. Which are positive and which are negative?

1 clear lines of communication (line 32) posifive
2 bureaucratic set up (line 35)

3 speedy decision-making (line 36)

4 traditional hierarchical structure (line 77)

5 customercentric approach (line 91)

6 freedom to innovate (line 101)

7 flat organisational structure (line 107)



Company structure |

Doing the business

Raisin Ingle hears how efficient management

structures are vital for success

he need for a solid structure

I within all business entities

is ‘absolutely fundamental’,
according to Ms Angela Tripoli, a
5 lecturer in Business
Administration at University
College Dublin. ‘Organisational
structure concerns who reports to
whom in the company and how dif-
10ferent elements are grouped
together. A new company cannot
go forward without this and estab-
lished companies must ensure
their structure reflects their target

16 markets, goals and available tech-
nology.'

Depending on their size and
needs there are several organisa-
tional structures companies can

20 choose from. Increasingly though,
in the constantly evolving busi-
ness environment, ‘many firms
are opting for a kind of hybrid of
all of them'.

25 The most recognisable set up is
called the functional structure
where a fairly traditional chain of
command (incorporating senior
management, middle manage-

30 ment and junior management) is
put in place. The main benefit of
this system is clear lines of com-
munication from top to bottom but
it is generally accepted that it can

35also be a bureaucratic set up
which does not favour speedy deci-
sion-making.

More and more companies are
organising themselves along prod-

40 uct lines where companies have
separate divisions according to the
product that is being worked on.
‘In this case the focus is always on
the product and how it can be

45 improved.’

The importance for multina-
tional companies of a good geo-
graphic structure, said Ms Tripoli,
could be seen when one electrical

50 products manufacturer produced
an innovative rice cooker which
made perfect rice - according to
western standards. When they
tried to sell it on the Asian market

55 the product flopped because there
were no country managers inform-
ing them of the changes that
would need to be made in order to
satisfy this more demanding mar-

60 ket.

The matriz structure first
evolved during a project developed
by NASA when they needed to
pool together different skills from

65a variety of functional areas.
Essentially the matrix structure
organises a business into project
teams, led by project leaders, to
carry out certain objectives.

70 Training is vitally important here
in order to avoid conflict between
the various members of the teams.

During the 1980s a wave of
restructuring went through indus-

75 try around the globe. This process,
known as delayering, saw a
change in the traditional hierar-
chical structures with layers of
middle  management being

80 removed. This development was
driven by new technology and by
the need to reduce costs, The over-
all result was organisations that
were less bureaucratic.

8 The delayering process has run
its course now. Among the trends
that currently influence how a
company organises itself is the
move towards centralisation and

90 outsourcing. Restructuring has

evolved along with & mare ‘cus-
tomercentric’ approach that can
be seen to good effect in the banks.
They now categorise their cus-
95 tomers and their complex borrow-
ing needs into groups instead of
along rigid product lines.
Another development can be
seen in larger companies, which
100 are giving their employees more
freedom to innovate in order to
maintain a competitive edge.
Ms Julia MacLauchlan, Director
of Microsoft's European Product
105 Development Centre in Dublin,
said the leading software company
had a very flat organisational
structure. ‘There would not be
more than around seven levels
110 between the average software
tester and Bill Gates, she said.
Microsoft is a good example of a
company that is structured along
product lines. In Ireland, where
115 1,000 employees work on localisa-
tion of the software for all
Microsoft’s markets, the company
is split up into seven business
units. Each unit controls the local-
120 isation of their specific products
while working closely with the
designers in Microsoft's Seattle
Headquarters. %
It works, said Ms Maclauchlan,
125 because everyone who works in
the unit is ‘incredibly empowered’.
‘Without a huge bureaucratic
infrastructure people can react a
lot more quickly to any challenges
and work towards the company’s
objectives.

From The Irish Times

wn



| Company structure i
Vocabulary tasks

A Collocations

Match these nouns as they occur together in the text.

1 product a) teams
2 target \b) objectives
3 borrowing ¢) lines

4 project d) units

5 delayering e) company
6 country f) process
7 business g) markets
8 software h) needs

9 company i) managers

B Complete the sentence

Use an appropriate phrase from Exercise A to complete each sentence.
1 Banks need to be fully aware of their customers’ ...?Q!”.C.O.W!.flg..f.’!%@dﬁ ..... :
2 Silicon Valley is full of ................... 3

3 Many companies are now organised along ................... , in which each division is responsible
for a group of products

4 A matrix organisation groups people into .......o.eeenenenns a
5 Some companies are divided into different ..............oul , often also called profit centres.

6 Amultinational company will often have a numberof ................... , in charge of activities in
different parts of the world.

C Definitions
Match these terms with their definitions,
1 business entities (line 2) a) focusing on the customer rather than the product
2 set up (line 25) \b) new, original
3 innovative (line 51) ¢) companies

4 flopped (line 55) d) something that makes you better than other companies
5 outsourcing (line 90) e) did not succeed, failed

6 customercentric (line 91) f) structure

7 competitive edge (line 102) g) getting external companies to do work for your company
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D Prepositions

Complete these sentences with an appropriate preposition.

1
2

3
4
5
6

Organisational structure concerns who reports s whom.

Depending ....... TP, its size, there are several organisational structures a company can
choose from.

Many companies are organising themselves ............ O product lines.

In the 1980s a wave of restructuringwent ..o industry.

Delayering was driven ................... the need to reduce costs.

Microsoft in reland issplit ................ B SR A seven business units,

E Using a dictionary

1

2

1

2

3

A dictionary such as the Longman Business English Dictionary can help you to expand your
vocabulary. Try these two exercises.

The word business is used several times in the article combined with another word which comes
after it, e.g. business environment (line 21). It can also be combined with words that come before it,
e.g. big business. Try to think of as many word combinations using business as you can, then look at
the entry for business in the Longman Business English Dictionary.

Do the same exercise with the words company, management, manager and product.

The functional organisational structure has clear lines of communication. In contrast, where
things are organised along product lines or with a matrix structure, people often report to two
people at the same time — their boss in the functional structure and their manager or team
leader in the other structure, What, if any, problems could you imagine in the second case?

Do you think people from certain cultures would favour one kind of organisational structure
over another? Can you think of some examples and give some reasons.

Either use your own company’s organisational structure, or select one from a company’s
annual report, and give a presentation of it to your colleagues.



— "2 | The global company

Before you read

Discuss these questions.

1 Canthere be such a thing as a ‘world car? Or should cars be designed to suit the tastes of different
markets? What are the financial and marketing implications?

2 Which do you think is better for an intérnational company — strong central control of international
operations or decentralised decision-making? Does it depend on the business the company is in?

Reading tasks

A Understanding main points

1 Read the text on the opposite page about two car companies’ global strategies and say which of
these statements apply to Ford and which to Honda.

a) now has a strategy of decentralisation Hondd

b) now works in multi-disciplinary teams for car design and development

¢) has always worked in multi-disciplinary teams

d) produces more cars abroad than in its home country

e) used to be very decentralised

f) used to be very centralised

g) has divided the world into four regions

h) designs and develops all its small cars in Europe

i) has always been flexible and able to respond to change
2 According to the ideas in the text, why do car companies now need to have a global strategy?
3 How did the two companies change their strategies?

B How the text is organised

These phrases summarise the main idea of each paragraph of the text. Match each phrase with the
correct paragraph.

a) one reason for changes in Honda’s strategy
b) Honda’s original strategy

¢) Ford’s new strategy

d) conclusion

@) Honda's new strategy

f) Ford’s original strategy

g) the advantage of Honda's original strategy
h) introduction paragrdph I

i) Ford’s new strategy in detail

j) another reason for Honda's new strategy

(3]
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Case study: Ford and Honda

Haig Simonian on two car
groups’ different routes to the
global market

Rising costs and the worldwide
spread of shared tastes in car
styling have prompted the indus-
try’s giants to exploit global
5economies of scale. But rivals
such as Ford and Honda have
approached the task very differ-
ently.
Ford is one of the world’s earli-
10 est multinationals. Its first foreign
production unit was set up in
Canada in 1904 - just a year after
the creation of the US parent. For
years Ford operated on a regional
15 basis. Individual countries or
areas had a large degree of auton-
omy from the US headquarters.
That meant products differed
sharply, depending on local execu-
20 tives' views of regional require-
ments. In Europe the company
built different cars in the UK and
Germany until the late 1960s.
Honda, by contrast, is a much
25 younger company, which grew
rapidly from making motorcycles
in the 1950s. In contrast to Ford,
Honda was run very firmly out of
Japan. Until well into the 19808, its
30 vehicles were designed, engi-
neered and built in Japan for sale
around the world.
Significantly, however, Honda
tended to be more flexible than
35 Ford in developing new products.
Rather than having a structure

based on independent functional
departments, such as bodywork or
engines, all Japan's car makers
40 preferred multi-disciplinary
teams. That allowed development
work to take place simultaneously,
rather than being passed between
departments. It also allowed much
45 greater responsiveness to change.

In the 1990s both companies
started to amend their organisa-
tional structures to exploit the per-
ceived strengths of the other. At

50 Ford, Alex Trotman, the newly
appointed chairman, tore up the
company’s rulebook in 1993 to
create a new organisation. The
Ford 2000 restructuring pro-

55 gramme threw out the old func-
tional departments and replaced
them with multi-disciplinary prod-
uct teams.

The teams were based on five

80 (now three) vehicle centres,
responsible for different types of
vehicles. Small and medium-sized
cars, for example, are handled by a
European team split between the

65 UK and Germany. The develop-
ment teams comprise staff from
many backgrounds. Each takes
charge of one area of the process,
whether technical, financial or

70 marketing-based.

Honda, by contrast, has decen-
tralised in recent years. While its
cars have much the same names
around the world, they are becom-

75 ing less, rather than more, stan-
dardised. ‘Glocalisation’ - a global
strategy with local management -

is the watchword. Eventually the
group expects its structure will

80 comprise four regions — Japan, the
US, Europe and Asia-Pacific -
which will become increasingly
self-sufficient.

Two reasons explain Honda’s

85 new approach. Shifting to produc-
tion overseas in the past decade
has made the company more
attuned to regional tastes. About
1m of Honda’s 2.1m worldwide car

90 sales last year were produced in
the US. A further 104,000 were
made in the UK. No other manu-
facturer has such a high propor-
tion of foreign output.

9 Honda engineers also reckon
they can now devise basic engi-
neering structures which are com-
mon enough to allow significant
economies of scale, but sufficient-

1001y flexible to be altered to suit
regional variations. The US
Accord, for example, is longer and
wider than the Japanese version.
The European one may have the
105 same dimensions as the Japanese
model, but has different styling
and suspension settings.
Both Ford and Honda argue
their new structures represent a
110 correct response to the demands of
the global market. Much of what
they have done is similar, but
intriguingly, a lot remains differ-
ent.

FINANCIAL TIMES

World business newspaper.

HONDA
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Vocabulary tasks ' R

A Synonyms

1 The word ‘headquarters’ (line 17) is used to describe the central, controlling part of a large,
infernational company. What other word 15 used i the same pafagraph with a similar meaning?

2 Honda and Ford manufacture cars. What other phrase is used to describe what they do?
3 Honda produces both cars and metorcycles. What is a general word for both of these?

B Word search
Find a word or phrase in the text that has a similar meaning,
3 when a company makes a product in big volumes to reduce costs (paras 1 and g)

......................................

£ 1
3 independence {para 2)
E IR

S rrrrees E TOTOUTOUIT
8 total of a company’s production {para 8)
Curtriniirmrneenans

( Complete the sentence
Lise an appropriate word or phrase from Exercise B to complete each sentence.
1 The company .. SOTPLIBES. .. three divisions ~ cars, trucks and commercial vehicles,
2 Eachdivisionhasalotof................... to decide its own strategy.

3 Companiegs seem to change their..........oevnn. every few years in response to changing
economic and market conditions.

Sl 4 Ourtotal ..ooovninnininns of cars from all our factories in Europe went down last year.
5 We need to deveiop products that meet the oooocivenenennen. of the market.
6 Big car makers now produce different models based on the same platferm in order to achieve

....................

7 Allthe mainjapanese car makers have ........coeevinnen. in Europe.

T

RS Vo
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D Expressing degrees of meaning
Complete these sentences with the adverb or phrase used in the text.
1 For many years Ford’s products differed .....S.bQ.f’PIY ..... from region to region.

2 Individual countrieshad ................... of autonomy.
3 Honda grew ....oocovvvennnnn. from its early days as a motorcycle manufacturer.
4 For many years Hondawasrunvery ................... out of Japan.
5 The use of multi-disciplinary teams allowed development work at
Handa to take place . ...ocoiiaannns in different parts of the campany.
6 Honda expects its four regions to become ................... self-sufficient.
7 No other car makerhas ................... of foreign output as Honda.

1 You have been asked by the board of a multinational car maker to present the case for a
‘glocalisation’ strategy, as described in the article. Prepare a presentation or write a report to
give your arguments in favour of this.

2 You are members of the global strategy team of US Motors, an American multinational car
maker. The company currently has production units in the UK, Germany, France and Spain
for the European market. But with the opening up of the markets in Central and Eastern
Europe, you are considering whether to set up a production unit in Poland. Hold a meeting to
discuss the advantages and disadvantages of this strategy, and try to come to a decision.
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Global production

Before you read

Discuss these questions.
1 What criteria do you think global companies use when they choose the location of their

manufacturing operations around the world? Some examples are labour costs, education level of the
local workforce, and political stability. Can you think of others?

2 It has become increasingly common for organisations to subcontract some aspects of their activity to

outside companies. Typical examples are catering (the company restaurant) or security (protecting
the buildings). What, in your opinion, are the advantages and disadvantages of subcontracting work
in this way?

Reading tasks

A Understanding main points

Read the text on the opposite page about how global companies organise their production and
answer these questions.

1 Where are most simple toys manufactured and why?

2 Why does Lego do things differently?

3 What is the reason for a global company to have a ‘part configuration” model?

4 According to the text, what are the advantages and disadvantages of ‘low-cost assembly plants’ ?
5 What are the operational advantages of outsourcing?

B Understanding details

Mark these statements T (true) or F (false) according to the information in the text.
Find the part of the text that gives the correct information.

1 The main reason to have overseas plants is to be close to local markets. F
2 Alot of plants are now being located in Eastern Europe.

3 Imports to many markets are now cheaper.

4 The number of overseas plants is increasing.

5 Cost is the main factor in choosing the location of a foreign plant.

6 Outsourcing production to subcontractors gives a company more flexibility.

C How the text is organised

What do these words refer to in the text?

1 its (line 12) a global company 4 this (line 36)
2 its (line 17) 5 this (line 59)
3 this (line 19) 6 it (line 93)
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Lowest cost isn’t always the answer

Lower tariffs and new markets opening to foreign investment have complicated the decision about how manufacturing

should be organised, says Nikki Tait

Visit any western toy superstore,
and most of the basic products will
say ‘Made in China’ or, perhaps,
Malaysia or Indonesia. Until, that
5is, vou reach the Lego section.
Suddenly, the boxes are more likely
to identify Denmark, Switzerland
or the US as the country of origin.

It might seem logical that a

10 global company, selling into a mul-
titude of country markets and
measuring its market share in
global terms, should place produc-
tion facilities wherever costs are

15 lowest. But Lego, the privately-
owned Danish company, has for
years concentrated its manufac-
turing in Europe and the US, argu-
ing that this best satisfies design

20and quality requirements. For
Lego the notion of cost is only a
small part of the production pic-
ture.

So how does a global company

25 go about organising its manufac-
turing network? The decision has
become more complicated over the
past two decades due to a number
of factors. On the one hand, trade

30 barriers across much of the world
have declined sharply.
Simultaneously, a range of new
markets — notably in Asia and
Eastern Europe - has opened to

35 foreign investment.

This has made global produc-
tion much more possible. But it
has also reduced the need for
many overseas plants. Markets

40 that previously demanded local

production facilities — because tar-

iff levels made importing far too

expensive - can now be supplied
from other countries

45 Plainly, in this newly-liberalised
environment, basic manufactur-
ing costs do become more signifi-
cant. But there are limits to a pure-
ly cost-driven approach. Many

50 companies have built their current
production structure through
acquisitions over a number of
years, rather than in a planned
way.

55 Another problem is that costs
themselves can be subject to rapid
change, making today’s Indonesia,
for example, tomorrow’s Hong
Kong. This adds a further dimen-

60sion to any global company’s
investment decision-making. The
reality is that manufacturing busi-
nesses also need to think: how
quickly can we pull the plug?

65 Some companies have addressed
this issue through what is called
the ‘part configuration’ model.
This involves selecting a number
of regional manufacturing bases

70 which are viewed as longer-term

investments, and augmenting

them with lower-skilled assembly
plants, which can more easily be
moved between markets,

The availability of suitable
employees also needs to be exam-
ined when investment decisions
are being made. There may be
close links between manufactur-
&0 ing and product innovation and if

75

too much focus is put on low-cost
assembly operations, product
innovation tends to suffer.
Perhaps the hottest topic is
85 whether a global company needs
to be a producer at all
Outsourcing of production to
other suppliers gives a company
more flexibility, and fits well with
90a global strategy. A business may
be better placed to supply differen-
tiated products into different
regional markets, and it can proba-
bly adjust more swiftly to chang-
95ing cost considerations. These
operational advantages come in
addition to the financial benefits
of putsourcing, such as lower capi-
tal employed.

100 But there can be pitfalls.
Perhaps no company exemplifies
the outsourcing trend better than
Nike, the sports shoe group. On
paper, its strategy of subcontract-

105ing the production of its shoes to
local factories looks eminently
sensible. But these arrangements
have turned into a public relations
disaster in recent years, as human

110rights campaigners have com-
plained of ‘sweatshop’ conditions
in many of the Asian plants pro-
ducing Nike products. Lack of
ownership, it seems, does not bring
freedom from responsibility.

FINANCIAL TIMES

World business newspaper.
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Vocabulary tasks

A Synonyms
1 The article deals with the question about where to locate ‘production facilities’. Three other words
are used in the article with a similar meaning to ‘facilities’. What are they?

2 What other word is used in the article with the same meaning as ‘production’?

B Word search
Find a word or phrase in the text that has a similar meaning.
1 amount in percentage terms of a company’s sales compared to its competitors (para 2)
2 organisation of a company’s production facilities around the world (para 3)
(] PP ——— flmsanssmasassais
3 legal or financial regulations to protect a country’s domestic producers (para 3)

4 amount of taxes on imports (para 4)

, SO . I —
5 strategy based mainly on keeping costs low (para 5)

7 factory which puts together parts of a machine manufactured elsewhere (para 7)

Qurrirnaneiieinann, 3OO
8 products that are specially prepared for different market needs (para 9)
Qosumsievamamis st s ey
9 getting other companies to make products to your specification (para g)
(o, s R
10 money invested in the business operations of a company (para 9)
Clsvssisninaiiasss ununernavispmsmss

11 extremely bad working conditions, with low pay (para 10)
SRR R R

C Definitions
Match these terms with their definitions.

1 notably (line 33) a) is atypical example of something

2 augmenting (line 71)\\ b) especially, particularly

3 links (line 79) ¢) arelationship or connection between two things
&4 swiftly (line 94) d) quickly

5 exemplifies (line 101) e) very, extremely, completely

6 eminently (line 106) f) increasing soamething by adding to it
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D Complete the sentence
Use an appropriate word from Exercise C to complete each sentence.
1 The success of the engineering company ABB ..?{‘.ﬁ(ﬁﬁﬂrfﬁ@.. the ability of an organisation to think
globally and act locally.

2 We recruit our future international managers from the top business schools, ...ooveiivverienen.
Harvard, INSEAD and Londan.

3 Many business schools and management faculties have clase ................... with industry.

& Our new Chief Executive was easily the best candidate for the job. Infact, heis .. ., .coooooeines
suitable for this position.

5 During the busy months of the year we deal with the extrawork by .o..covveveiinnnns our full-time

staff with ternporary employees.

& Ifincorrect and potentially damaging news is reported about the company in the press, it is
important t0 MOVE ......oovvvvvnnnne. to deny it

1 Some of the main benefits for a company that is listed on the stock exchange are that it can
raise capital by issuing new shares, and it can also use its own shares as payment when
acquiring or taking over another company. But there are some disadvantages ton, What do you
think they are?

e

- 2 Most big international companies are listed on the stock market. But Lego is not. What do you
think the reasons are?

3 Your company, a well known multinational producing components for the car industry, has a
production plant in southern [taly, an area of high unemployment. The plant received Italian
government and ELL financial assistance when it was built three years ago. Now, due to poor
productivity fevels at the plant, the company is considering closing it down. However, there
could be social, economic and political problems if it does so. You have been asked by the top
management to write a report to present the case in favour of not closing it Do so, giving as
many reasons 4s you can.

4 You are a member of the strategic planning team of a company that produces PCs. Till now,
the company has produced mast of the components for the PCs itself. Hold a meeting to
discuss the argutnents for and against outsourcing the production of some of these components,
so that your company becomes only an assembler and distributor of the finished PCs.

4 RIS g froniblonms  DRweN ' o
H—— . T . . e B
C s Ly n*.'f;'t(\.\,;ﬂi:.-\f bra bict 8
o ) ST AR Rl o2 RNGuiten ;3
sl Erashon ZTE'!';*ﬂquITDJiﬂ B AT AT T i Loo! team o7
coin TR T3 Y Lo 2il i 02 0 390 e 3
LIONTA TR T e e T e R 2 teve viaslad ¢



= 4 Entering a foreign market

Before you read

Discuss these questions.

1 What are the main reasons for manufacturing a product in the country or region where you want to
sellit?

2 Alot of products are increasingly being ordered by phone or through the Internet, assembled to order
and delivered from the factory directly to the customer. This is especially the case in the US and
Europe. Do you think this approach would work well in South America?

Reading tasks

A Understanding main points

Read the text on the opposite page about Dell’s plans to assemble PCs in South America and
answer these questions. ’

1 Is the writer generally positive about Dell’s chances of success in its South American venture?
2 Why has Dell decided to attack the South American market?

3 Based on the information in the text, which country is the odd one out, and why?
a) Colombia b) Argentina ¢) Brazil d) Paraguay e) Uruguay

4 Why has Dell chosen to locate its manufacturing plant in Brazil?
5 Which of the following ‘challenges’ facing Dell are mentioned in the article?
a) unreliable transport networks v e) large distances

b) poor productivity f) high import tariffs
¢) political instability g) terrorism
d) high inflation h) well-established competitors

B Understanding details

Mark these statements T (true) or F (false) according to the information in the text.
Find the part of the text that gives the correct information.

1 Dell will sell only in the big cities. F

2 Dell already sells computers in South America.

3 The company also produces PCs in Mexico.

4 It plans to import all the components it needs.

5 Ford and Volkswagen have been operating in South America for some years.

6 Considering South America as a single market is not an easy strategy.

7 To meet ‘local content criteria’ Dell must use a certain percentage of components produced locally.
8 Dell hopes to sell its computers duty-free in many countries.

9 Delivery systems in Brazil are better than in other parts of South America.
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Entering a foreign market]

Dell tries to crack South America

John Barham examines the US computermaker’s strategy for expansion using a Brazillian base

Dell Computers, the Texas-based

computer-maker that was among

the pioneers of online ordering, is

preparing to attack the difficult
5 Latin American market.

Soon, Dell will start making
computers at a new factory in the
small, southern Brazilian city of
Eldorado in its first manufactur-

ming venture in South America.
Within a few hours' flying time of
Eldorado lie four of the conti-
nent's main metropolitan regions
—Buenos Aires, Rio de Janeiro, Sao
15 Paulo and Santiago — which gener-
ate about half the region’s wealth
and where most of the computer-
using populace is concentrated.
Dell hopes to serve all these mar-
20 kets - including more distant
regions in northern Brazil and the
Andean countries - from
Eldorado.
According to Dell's plan, air-
25 craft from Miami will land at a
nearby international airport car-
rying computer components that
will be sent straight to Dell’s facto-
ry. Together with parts delivered
30 from suppliers in Brazil, they will
be assembled to order, packed and
delivered to consumers across the
continent.
The challenge for Dell is not
35 only to mount an effective market-

C Understanding details

ing campaign to educate cus-
tomers about online ordering, it
must also manage a complex logis-
tics system and deal with the prob-

40 lems of unreliable road and air
transport networks. And it must
operate in half a dozen volatile
Latin countries, with unpre-
dictable governments and con-

45 sumers as well as well-established
competitors.

Dell could not afford to ignore
the South American market much
longer. It currently exports com-

50 puters to a few Latin American
countries such as Mexico and
Colombia, but has never sold to
markets in Argentina or Brazil.
Latin American consumers last

55 year bought 5 million PCs and
demand is growing at 15 per cent a
year. Growth is likely to remain
strong for some time to come: in
Brazil, the region’s largest market,

60 only 3-4 per cent of the population
owns a PC.

Dell is not the first company to
view South America as a single
market. For a decade, Ford and

65 Volkswagen and many other
multinational companies have
operated in the region's main
countries as if they formed one
integrated market. That was a nat-

70 ural reaction to falling import tar-

iffs and consolidation of the
Mercosur customs union linking
Argentina, Brazil, Paraguay and
Uruguay. However, the distances,
75 the red tape and the animosities
between mnational governments
often make fulfilment of this strat-
egy difficult.
Dell decided to locate in Brazil
80 hecause it is the region's higgest
market and because the govern-
ment gives computer companies
substantial tax incentives as part
of its plan to develop local high
85 technology industries. If Dell
meets Brazilian local content crite-
ria and attains agreed production
volumes, its products are consid-
ered to be 100 per cent locally made
90 and automatically gain duty-free
access to Mercosur countries.
However, there is little Dell can
do about the internal transport
networks in Brazil or the bureau-
95 cracy in neighbouring countries.
Although roads, air transport and
delivery systems are tolerably effi-
cient in south eastern Brazil and
parts of Uruguay, Chile and
100 Argentina, Dell may still find it is
struggling to co-ordinate opera-
tions and sales over a vast region.

FINANCIAL TIMES

World business newspaper.

Complete the sequence of steps in the planned assembly and delivery of Dell’s PCs. (para 3)

1 components arrive by plane from Miami 2
3
Y
4
¥
5
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D How the text is organised
These phrases summarise the main idea of each paragraph. Match each phrase to the correct
paragraph.
a) the challenge for Dell
b) reason for choosing Brazil
¢) an overview of Dell’s intentions Pdr‘dgmph !
d) reason to enter the South American market.
€) how Dell’s plan will work
f) other companies’ experiences
g) problems Dell may Face in Brazil and elsewhere
h) advantages of Eldorado’s location

Vocabulary tasks

A Word search
Find a word or phrase in the text that has a similar meaning,
1 one of the first to do something (para 1)

7 lots of rules and regulations, which often seem to have no purpose {para 6)
| P | 3
fin 8 strong dislike between people or groups (para 6)
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B Collocations
1 Match these nouns as they ocour together in the text.

a) tax \ venture
b) manufacturing incentives

P

¢) import systern

d) customs 7T tariffs

e) production volumes

f} logistics union

2 Match these verbs and nouns as they oceur in the text.

a) mount atLess

b} serve criteria ]
t} generate a campaign h
d) gain a markat

&) mest wealth

C Complete the sentence
Use an appropriate phrase from Exercise B to complete each sentence.
1 Many countries offer companies . I9X {NCENTIVES,  to encourage inward investment.
2 When we launch our new Internet service we willneed to ............. rreer. @ DIg Marketing

3 Inorderto be successful, the new manufacturing plant will have to reach target
P within six months.

4 Assembling to order and delivering direct to each customer means managing a complex

Sk krdvrEransEmans s

5 When importing is expensive dueto high ................... , the alternative is to manufacture locally.
6 In order to have free access to the EU market, Japanese car manufacturers in the UK need to
Creseeaaeaaee .. IITITNAT CORtENG ...l
7 Insome countries the only way 1o ...ocvivneenenn...- well is to have local production.
B Most countries in Europe are now part ofa ........o.ooeeeees. which allows free movement of goods.
LEREU LA SIS =R ) HERTE (i O

1 lmagine you work in the marketing department of a Eurapean truck manufacturer. Prepare a
presentation giving arguments for setting up production in South America.

2 You are a consultant specialising in economic and political fields. You have been asked by a
client, a Furopean computer manufacturer, to summarise in a report the difficulties and
chailenges of setting up a production operation in one of the following countries: Colombia,
Russia or Indonesia. Choose one and write a report.

[F [ [ . s T T R Teaum W




g 5 International mergers

- Before you read

Discuss these questions.
1 How would you define a merger? How does it differ from an acquisition?
2 Think of three or four big international mergers in recent years. Have they been successful?

3 What kind of things do you think can {ead to probiems or even failure in international mergers and
acquisitions?

Reading tasks

A Understanding main points

Mark these statements T (true) or F (false) according to the information in the text on the
opposite page. Find the part of the text that gives the correct information.

1 The majority of mergers take place in the USA. F

2 Many international mergers are failures.

3 Most attention is concentrated on what to do after the merger is completed.

4 Many mergers are done too quickly.

5 Connecting different computer systems together is not usually a problem.

6 High salaries were given to Chrysler managers as compensation for the merger with Daimler-Benz.
7 Chrysler has won many prizes for its production methods.

8 Engineers have a high status at Daim(er-Benz.

B Understanding expressions
Choose the best explanation for each extract from the text.
1 ‘the merger wave is now sweeping over Europe’ (line 1)
a) alot of American companies are merging with European ones
b) there has been a big increase in the number of mergers involving European companies
2 ‘success will depend on the merged companies’ ability to create added value’ (line 18)
a) they must try ta make sure the share price goes up after the merger
b) they must try to reduce costs and increase revenue in the new merged company
3 ‘post-merger integration has become decisive’ (line 31)
a) the way merged companies work together as one company is extremely important
b) itis necessary to take quick decisions after the merger is competed
4 ‘the growing importance of intangible assets’ (line 63)
a) some assets are carefully protected and cannot be touched
b) people are the most valuable asset in many companies

20}
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After the deal

Doing deals is easy. As mergers hit record levels, now

comes the hard part

he merger wave, which in
I 1998 was a predominantly
American affair, is now
sweeping over Europe. Cross-bor-
5 der deals, such as Daimler-Benz’s
takeover of Chrysler, accounted
for a quarter of mergers in 1998;
more are expected as firms go
global.

In many cases this consolida-
tion makes sense - at least on
paper. But just as certain as the
flow of deals is that most will be
failures. Study after study of past
15 merger waves has shown that two

out of every three deals have not

worked.
Success in the future will
depend more than ever on the
20 merged companies’ ability to cre-
ate added value. And that will
depend mainly on what happens
after the deal has been done. Yet
many deal makers have neglected
25 this side of the business. Once the
merger is done, they simply
assume that computer program-
mers, sales mangers and engineers
will cut costs and boost revenue
30 according to plan.
Yet, just when post-merger inte-
gration has become decisive, it has
become harder to pull off. Not only

10

C How the text is organised

are modern firms complicated

35 global affairs, but executives are
putting today’s deals together in a
hurry. Few give enough thought to
the pitfalls.

One set of obstacles is ‘hard’

40things, such as linking distribu-
tion or computer systems. In par-
ticular, many recent mergers have
been undone by the presumption
that information technology is
45 easy to mesh together,

More difficult are the ‘soft
issues’; and here the same word
keeps popping up - culture. People
never fit together as easily as flow

s0charts. Culture permeates 4 com-
pany, and differences can poison
any collaboration. After one large
US merger, the two firms had a
row over the annual picnic:

55 employees of one company were
accustomed to inviting spouses,
the others were totally against the
idea. The issue was resolved by
inviting spouses only in alternate

0 years.

Two new things have made cul-
ture clashes harder to manage.
The first is the growing impor-
tance of intangible assets. In an

65advertising agency, for instance,
most of the value can walk out of

What do these words refer to in the text?

1 which (line 1)
2 more (line 8)
3 most (line 13)
4 that (line 21)

merger wave

5 this (line 25)
6 they (line 26)
7 it (line 32)

8 few (line 37)

the door if key people leave.

The second new thing is the
number of cross-border mergers.

70 In thig area DaimlerChrysler may
prove to be an interesting case
study in differing management
cultures, One worry is compensa-
tion: Chrysler's pay levels are

75much higher than the German
company’s. So a US manager post-
ed to Stuttgart may end up report-
ing to a German manager who is
earning half his salary.

80 Nor is pay the only difference.
Chrysler likes to pride itself on its
flexible approach, where speed
and ingenuity are prized. When
designing new models, teams of

85 engineers, designers and market-
ing people work on each model.
Daimler-Benz has a more tradi-
tional structure, in which design-
ers and marketing people mix less

90 and engineers are in charge.

Some recent deals will no doubt
prove a stunning success.
Nevertheless, there are three omi-
nous signs about the current

95 merger boom. First, much of the
attention seems to be on the deal
itself rather than the integration
that must follow. Second, many
deals are rushed. And third, merg-

100 ers have too offen become 2 strate-
gy in their own right.

So the things that are so impres-
sive about today’s mergers - their
size, complexity and daring -
could count against them if the
economy turns down.

From The Economist
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Vocabulary tasks

A Word search

Find a word or phrase in the text that has a similar meaning.
1 mergers between companies from two different countries (para 1)

.........................................................

3 when a company becomes more international {para 1)
- SO - U
& people who negotiate the terms of 2 merger {para 3)
i [ | | E
& reduce the amount of money spent (para 3)
Coeinnnrtrnanas N
6 increase income from sales (para 3)
B | P
7 waork that needs to be done after the merger agreament (para 4)

8 sentto ajob in another country (para 8)

B Understanding expressions

ikt

Choose the best explanation for each word or phrase from the text.
1 pulloff {line 33)
a) stop
b) succeed v
2 pitfalls (line 38)
a) problems
b) accidents
3 mesh together (line 45)
a) combine
b) mixup
4 popping up (line 48)
a) exploding
b} coming up
5 permeates (line 50)
a) destroys permanently

i
[

ey
E L ENERE

b) gaes into every part
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& pride itself {line 81)
a) be pleased with yourself for something
b) tell everyone about your good points
7 ominous (line 93)
a) easy to predict
b} predicting something bad
8 in their own right (line 101)
a} by themselves
b) in a correct way

Prepositions
Complete these sentences with an appropriate preposition.

1 Cross-border deals accounted ..., f 7] S 2 quarter of mergers in 1998.

2 TWO i e every three deals have not worked.

3 Success will depend ................... the merged companies’ ability to create added value.

4 They assume sales managers and engineers will cut costs according ................... ptan

& Executives are putting deals together ... ... a hurmy.

6 Employees of one company were accustomed .o inviting spouses to the annual picnic,
7 AnAmerican manager may report .....o.....eee. a German boss,

8 in Daimler-Benz, engineersare ...cooooevue.n charge.

1 The article ernphasises that the post-merger integration is the hardest but most important part
of the deal. Here is a list of some (ssues that must be considered to cnable things to work well
after a merger has taken place, Which are the most important? Can you add others? What
factors need to be taken into account when coming to decision?

+ who will be the chief exccutive of the new company?

+ where will the HQ be?

» ifitis a merger between companies from different countries with different languages, what
should the company language be? :

"« on which stock exthange should the new company be listed?

+ where there is duplication, e.g. two centres for R&D, should ene be clased?

*» should key managers be moved to different parts of the merged company to speed up
fegration?

2 Differences in pay levels between the two companies in a merger can cause problems. Imagine
you are members of the Human Resources departments of the two companies. Hold a meeting
to discuss this problem and try to suggest some solutions.
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Corporate cultures

- Before you read

Discuss these questions.
1 Every organisation has its own distinctive culture, and this can vary enormously from company to

company. To an outsider, corporate culture differences are usually reflected in external symbols or
characteristics, such as advertising and design. Other characteristics of corparate culture are only
observable when you get inside the company as an employee or a supplier, such as the kind of dress
worn by staff or the use of first names. Try to think of some other characteristics of corporate culture
based on companies that you know.

Think of some large supermarket groups you know. What kind of image do they project to their
customers, e.g. friendly, giving best value?

- Reading tasks

28

A Understanding main points

Read the text on the opposite page about the merger of two companies and their corporate
cultures and answer these questions.

1 Which company is bigger — Asda or Wal-Mart?
2 What are employees at Asda called?
3 Which two countries are Asda and Wal-Mart from?
4 Which of these statements best summarises the corporate cultures of Asda and Wal-Mart?
a) We must keep costs as low as possible.
b) We value the contribution of every employee to the success of the company.
€) Everyone in the company is considered equal.
5 What extra financial benefit do Wal-Mart employees have?
6 Allan Leighton mentions three things needed to get the deal ‘to work culturally’. What are they?

B Understanding details

Mark these statements T (true) or F (false) according to the information in the text.
Find the part of the text that gives the correct information.

1 Asda and Wal-Mart have very similar corporate cultures, T

2 Asdais the biggest supermarket group in the UK.

3 Wal-Mart is the biggest retailing group in the US.

4 Asda had financial problems in the 1980s.

5 Many of Asda’s employees are over 65,

6 Allan Leighton is sure the merger of Asda with Wal-Mart will succeed.
7 Wal-Mart plans to impose its corporate culture on Asda.

8 Creating a corporate culture cannot be planned in theary only.



TRANSPOSING A CULTURE by Peggy Hollinger
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Not to be taken for granted

Asda and Wal-Mart should be the perfect merger, given that the former has
deliberately set out to copy the US retailing giant’s style. But Asda is keenly

aware of the pitfalls.

You could not hope to find a neater
fit, said the commentators when
Wal-Mart, the world's biggest
retailer, agreed a £6.7bn takeover

5 deal with Asda, the UK’s number
three supermarket group.

It had long been known that the
team which was brought in to res-
cue Asda from collapse in the mid-

10 1980s had deliberately set out to
copy virtually every aspect of the
giant US discount group that could
be replicated in the UK.

So Asda stores have ‘colleagues’,

15 not employees. They have people
in the parking lots to help drivers
to park. They have old-age pen-
sioners wearing colourful name
badges, standing at the door to say

20 hello and ask customers if they
need help. In the Leeds headquar-
ters no one has an individual
office, not even the chairman.
Finally, store staff get actively

25 involved in promoting individual
product lines, and are rewarded
when their efforts lead to tangible
sales improvements.

Most of these ideas came

30 straight from Bentonville,
Arkansas, home to one of the
world’s most unusual retailers.
For Wal-Mart’s corporate culture
has become a legend in retailing.

35 The company’s employees chant
the Wal-Mart cheer before store
meetings. They benefit from a

C Understanding meanings

1 Choose the best explanation of the phrase ‘there are few who really believe putting Asda into

share ownership scheme which is
one of the most widespread in the

40industry. Top executives share
rooms when on business trips, and
pay for their coffee and tea from
vending machines like the lowliest
sales assistant.

45 Given the similarities, there are
few who really believe putting
Asda into the Wal-Mart network
will result in anything but success.
But, says Asda’s Chief Executive,

50 Allan Leighton, this is no reason
to be complacent. Failing to bring
together corporate cultures, even
those as similar as Asda’s and Wal-
Mart’s, could lead to the downfall

55 of the most logical mergers. ‘When
acquiring or merging with a busi-
ness, getting the cultures to fit is
fundamentally important,” he says.
Half-way houses, where compro-

60 mises are made, never work, he
believes, and nor does imposing
one culture on another. ‘A compa-
ny calling their colleagues col-
leagues and treating them like

65 staff is not the answer,’ he says.

The key to getting the deal to
work culturally rests on a few fun-
damental issues, he believes. The
first and most important is termi-

70 nology, he says. ‘Businesses have
their own language. You have to
get everyone aligned so that when
someone uses a word it means the
same thing to everyone.'

» v

75 Middle management comes
next. ‘Initially, everything is done
at the top of the organisation,’ he
says. ‘But most of the work is done
in the middle.” If middle manage-

80 ment is not incentivised, a deal
can go horribly wrong. ‘It all boils
down to people in the end. And
what motivates people? Unless you
can demonstrate very quickly that

85 their influence in the organisation
is at least the same if not better
than before, then people will get
concerned about it,’ he says.

Third comes getting to know

90 each other. Asda and Wal-Mart
have spent the last few weeks
swapping store managers and IT
systems staff. ‘We will go out there,
look and bring back,’ Leighton

95 says. ‘That way we will have own-
ership of the changes as opposed to
having them pushed on us.’

It will always be hard to deter-
mine whether a merger or
100 takeover has failed because the
cultures simply did not fit. But
success is more likely to elude
those who do not really believe in
the cultures they are trying to cre-
105 ate. ‘This all comes from the
heart,’ says Leighton. ‘You do not
get it from textbook management
or instruction. You have to create
an environment where people feel
comfortable in expressing them-
selves in a different way.’

FINANCIAL TIMES

World business newspaper.

the Wal-Mart network will result in anything but success’ (line 45)
a) most people think the combination of Asda and Wal-Mart will succeed
b) not many people think the merger will succeed

2 What does Allan Leighton mean when he says ‘it all boils down to people in the end’ (line 81)

a) the number of people in the new organisation will need to be reduced
b) people are the most important element in a merger or takeover
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Vocabulary tasks

A Synonyms
1 The word ‘employees’ is used several times in the text. What other word is used that has a similar
meaning? (para 3)
2 The phrase ‘to push something on someone’ is used in line 97. What similar phrase is used earlier
in the text? (para 6)

B Word search
Find a word or phrase in the text that has a similar meaning.

1 agreement when a company buys another (para 1)
t.akeover. 72—

C Definitions
Match these terms with their definitions.

1 virtually (line 11) a) cause something to fail

2 parking lots (line 16)\ b) people of retirement age who no longer work
3 old-age pensioners (line 17) c) almost all

4 chant (line 35) d) sing

5 widespread (line 39) e) escape

6 lead to the downfall (line 54) f) aplace where cars are put

7 incentivised (line 80) g) motivated through money or other means

8 elude (line 102) h) available to lots of people
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D Collocatiens
Match these nouns as they occur together in the text

11T a) ownership ) .
2 prt}N b) trip CgETS
3 name €) systems .

& store d) line
5 sales e} management
& share f} badges
TTYE 2 middle g} assistant
8 business h) manager

E Complete the sentence
Use an appropriate phrase from Exercise D to complete each sentence,

1. ohare_ownership .. schemes far employees help to develop loyalty and commitment.

2 Most large supermarkets sell hundreds of ...................

3 With the increased emphasis on the custamer in retamng, theroleofthe ...ooooooiaoiioi.
................... is important.

4 The increased use of audio and videa conferencing should reduce the numberof ...l
................... executives need to make.

5 Large organisations need sophisticated ................... to operate efficienth.

6 ifpeople didetwear ....... FUUU oo 2t Big conferences, you wouldn't know who anyone was.

7 Most exacutives never progress beyond .......... ...

8 Theroleofa....c.eoovvneans is to motivate and control the sales staff in the shop.

1 Wal-Mart’s corporate culwuire ‘has become a legend in retailing’, It includes such things as
employees chanting the Wal-Mart cheer ¢ach day before the store opens, How well do you
think Wal-Mart’s corporate culture would “travel’ across national cultures, especially outside the
UK and the 1187 Would you fezl comfortable with it2

2 Choose two large retailing, restaurant ot hotel groups that you are familiar with. 1f you have
time, go and observe the way they present themselves to customers. Then give a presentation
comparing the twe organisations’ approaches to customers.
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- Before you read

Discuss these questions.

1 What qualities do you think a person needs in order to be a successful global manager?
Some examples may be independence, or an interest in foreign cultures. Try to think of others.

2 What personal and professional skills do you need for a successful business career in your country,
e.g. specialist training, knowledge of foreign languages, outgoing personality?

Reading tasks

A Understanding main points
1 Which of these statements gives the best summary of the text on the opposite page?
a) A successful global manager needs many qualities.
b) The qualities required to become a top manager differ from country to country.
¢} Many young managers are not interested in a global career.

2 Mark these statements T (true) or F (false) according to the information in the text.
Find the part of the text that gives the correct information.

a) International experience is essential if you want a global career.

b) Subsidiaries of global companies use the same criteria when promoting managers.
¢) The demand for global managers is increasing.

d) Young managers want to work internationally.

B Understanding details

1 Different qualities for career success are described for different cultures and nationalities.
Match the qualities from the list below to the nationalities mentioned in the text.

a) good communication skills Pritish

b) technical creativity

c) ability to network

d) professional competence

e) entrepreneurial skills

f) knowing how to work within a hierarchical structure
g) good interpersonal skills

2 Which national group considers communication and interpersonal skills to be more important
- the British or the Dutch?

3 According to André Laurent, German, British and French managers see organisations as
different kinds of networks. What words does he use to define these networks in each case?

32



Global Careers

Ideally, it seems a global manager should have the stamina of an Olympic runner, the mental agility
of an Einstein, the conversational skill of a professor of languages, the detachment of a judge, the
tact of a diplomat, and the perseverance of an Egyptian pyramid builder, And that’s not all. If they
are going to measure up to the demands of living and working in a foreign country, they should also
5 have a feeling for the culture; their moral judgement should not be too rigid; they should be able to

merge with the local environment; and they should show no signs of prejudice.
Thomas Aitken

days there is not a discussion or a decision that does not have an international dimension.
We would have to be blind not to see how critically important international experience is.’

10 International companies compete with each other for global executives to manage their opera-
tions around the world. Yet what it takes to reach the top of a company differs from one country to
the next. For example, whereas Swiss and German companies respect technical creativity and com-
petence, French and British companies often view managers with such qualities as ‘mere techni-
cians’. Likewise, American companies value entrepreneurs highly, while their British and French

15 counterparts often view entrepreneurial behaviour as highly disruptive. Similarly, whereas only
just half of Dutch managers see skills in interpersonal relations and communication as critical to
career success, almost 90 per cent of their British colleagues do so.

Global management expert, André Laurent, describes German, British and French managers'
attitudes to management careers as follows:

20 German managers, more than others, believe that creativity is essential for career success.
In their mind, successful managers must have the right individual characteristics. German man-
agers have a rational outlook; they view the organisation as a co-ordinated network of individuals
who make appropriate decisions based on their professional competence and knowledge.

British managers hold a more interpersonal and subjective view of the organisational world.

25 According to them, the ability to create the right image and to get noticed for what they do is essen-
tial for career success. British managers view organisations primarily as a network of relation-
ships between individuals who get things done by influencing each other through communicating
and negotiating.

French managers look at organisations as an authority network where the power to organise

30 and control others comes from their position in the hierarchy. French managers focus on the organ-
isation as a pyramid of differentiated levels of power. They perceive the ability to manage power
relationships effectively and to ‘work the system’ as critical to their career success.

As companies integrate their operations globally, these different national approaches can send
conflicting messages to success-oriented managers. Subsidiaries in different countries operate dif-

35 ferently and reward different behaviours based on their unique cultural perspectives. The chal-
lenge for today’s global companies is to recognise local differences, while at the same time creating
globally integrated career paths for their future senior executives. -

There is no doubt the new global environment demands more, not fewer, globally competent
managers. Global experience, rather than side-tracking a manager’s career, is rapidly becoming the

40 only route to the top. But in spite of the increasing demand for global managers, there is a poten-
tially diminishing interest in global assignments, especially among voung managers. A big ques-
tion for the future is whether global organisations will remain able to attract sufficient numbers of
young managers willing to work internationally.

Q ccording to Colby Chandler, the former Chief Executive of Eastman Kodak Company, ‘these

From International Dimensions of Organisational Behaviour, Thomson Learning 1997

Global careers |



| Global careers

D Understanding meanings

1 Choose the best explanation of the sentence ‘there is not a discussion or a decision that does not
have an international dimension’ (line 8)7

a) international issues are not often discussed when companies take decisions
b) international issues must always be considered when taking a business decision
2 Choose the best explanation of the phrase ‘mere technicians’ (line 13) as it is used in the text?
a) people who have some technical skills but no management skills
b) peaple wha are excellent engineers

o Vocabulary tasks

A Definitions
Match these terms with their definitions,
1 stamina —\\’ a) ability to think quickly and intelligently

2 mental agility b) physical or mental strength to continue doing something
3 detachment c) ability to be polite and careful in what you say or do

4 tact d) determination to keep trying to do something difficult

5 perseverance e) not becoming involved in things emotionally

B Word search
Find a word or phrase in the text that has a similar meaning.
1 behaviour which prevents things from working normally (para 3)
d.isruptive. ... b. ehaviour:

...........................

L7 RO B 0 mene s M omsasssmsis
3 clear directions that people can follow to move up in a company (para 8)
Covivvsrareissis Drosesampsans
4 push a manager's career into a dead end (para 9)
YO L o PR e R
5 when interest is becoming less and less (para 9)
M wsmsmsnvesmirms Bsssmyareesmessing

C Prepositions
Match the verbs and prepositions as they occur together in the text.

1 based —_ a) upto
2 compete e b) on
3 have a feeling c) from
4 differ d) with
5 measure e) far
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D Complete the sentence
Use an appropriate phrase from Excercise C to complete each sentence.
1 German managers take decisions based on. .. their professional knowledge.
2 The qualities most valued in managers ................... country to country.

3 To operate successfully in different countries you need to ................... -(3]0,0 SR DR
different cultures.
4 In a global company, managers from different countries ................... each other for the top jobs.

5 Expatriates whodon't ..........c..c...... to the demands of working and living abroad sometimes
return from their foreign assignment early.

1 Do you agree with the list of personal qualities necessary to be a global manager which are
quoted by Thomas Aitken at the beginning of the text? Can you add anything?

2 If you have experience of companies in Germany, Britain and France, would you agree with
André Laurent’s analysis of what is essential for career success and how organisations work in
each country? Can you add anything?

3 Imagine that you wish to apply for the job advertised below. You have the right qualifications
and experience, and these are on your CV. Write a letter of application to accompany your CV,
emphasising your personal qualities and suitability for this position.

European Management Journal

Director, International Sales & Marketing

As a key member of our managerial team, you will direct the international business, promotional,
and advertising sales activities for The European Management Journal. You will determine the
profitability and feasibility of establisning new products and build strategies for delivering current
products into new international markets. You will also direct an independent sales force on three
continents and be responsible for the day-to-day management and co-ordination of marketing
strategies between national and international divisions.

Requires a BA (or equivalent) in Marketing or Finance, and 7 years’ product management or
development experience, with 3+ years' international marketing/sales experience in publishing or
management development. An MBA, experience in start up ventures, and the ability to adapt to
different cultures preferred. English and one other European language essential. Overseas travel
is required. The post is based in Brussels.

(oY)
v



Management attitudes in Germany

and Britain

Discuss these questions.
1 What is the ‘message’ of the cartoon on the opposite page?

2 Based on your experience or what you may have read, how do you think British and German
managers would differ in their approach to management?

B Reading tasks

A Understanding main points

1 The text on the opposite page describes two main differences between British and German
management. What are they?

2 Mark these statements T (true) or F (false) according to the information in the text.
Find the part of the text that gives the correct information.

a) Mergers between British and German companies rarely succeed. F

b) The study mainly concentrated on middle managers.

¢) Both German and British managers consider technical skills to be very important.

d) German managers prefer working with technicians in British companies.

) British managers are very concerned about their executive status.

f) There is much more change in British companies than in German companies.

g) German companies are strong and successful because of the way they are organised.
h) British managers are probably more flexible than their German counterparts.

3 In your opinion does the article suggest that one country’s approach to management and
organisation is better than the other’s?

4 Pick out some extracts from the article which make pasitive ot negative comments about British
or German approaches.

B How the text is organised
These sentences summarise the main idea of each paragraph. Match each sentence to the correct
paragraph.
a) British managers change jobs within a company far more often than the Germans.
b) A study has shown big differences in managerial behavious in Britain and Germany. pdragrdph l
€) Approaches to management in both countries have disadvantages which are clearly different.
d) British managers are ‘generalists’ rather than ‘specialists’.
e) Attitudes to the qualifications and the role of managers are different in Britain and Germany.
f) The structure of British companies changes frequently.
g) German managers are ‘experts’ in their jobs.
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study comparing
ABrltlsh and German
approaches to man-

agement has revealed the
5 deep gulf which separates
managerial behaviour in
many German and British
companies, The gap is so
fundamental, especially
10 among middle managers,
that it can pose severe prob-
lems for companies from the
two countries which either
merge or collaborate, The
15 findings are from a study
called ‘Managing in Britain
and Germany' carried out by
a team of German and
British academics from
20 Mannheim University and
Templeton College, Oxford.

The differences are
shown most clearly in the
contrasting attitudes of

25 many Germans and Britons
to managerial expertise and
authority, according to the
academics. This schism
results, in turn, from the

30 very different levels of quali-
fication, and sorts of career
paths, which are typical in
the two countries.

German managers — both

35top and middle - consider
technical skill to be the most
important aspect of their
jobs, according to the study.
It adds that German man-

40 agers consider they earn
their authority with col-
leagues and subordinates
from this ‘expert knowledge’
rather than from their posi-

45 tion in the organisational
hierarchy.

In sharp contrast, British
middle managers see them-
selves as execatives first and

50 technicians second. As a
result, German middle man-
agers may find that the only

Christopher Lorenz looks at the

contrasting attitudes between

German and British managers

Styles of
execution

“ MY GERMAN CounTERPART Knows

How To

CHANGE THE PLUG onr

His ExecuTive To7. "

people within their British
partner companies who are

55 capable of helping them
solve routine problems are
technical specialists who do
not have management rank.
Such an approach is bound

60 to raise status problems in
due course.

Other practical results of
these differences include a
greater tendency of British

65 middle managers to regard
the design of their depart-
ments as their own responsi-
bility, and to reorganise them
more frequently than hap-

70 pens in Germany. German

middle managers can have
‘major problems in dealing
with this’, the academics
point out, since British mid-

75 dle managers also change
their jobs more often. As a
result, UK organisations
often undergo ‘more or less
constant change’.

80  Of the thirty British mid-
dle managers in the study,
thirteen had held their cur-
rent job for less than two
years, compared with only

85 three in Germany. Many of
the Britons had also moved
between unrelated depart-
ments or functional areas,
for example from marketing

90 to human resources. In con-
trast, all but one of the
Germans had stayed in the
same functional area.
Twenty of them had occu-

95 pied their current positions
for five years or more, com-
pared with only five of the
Britons.

The researchers almost

100 certainly exaggerate the
strengths of the German
pattern; its very stability
helps to create the rigid atti-
tudes which stop many

105 German companies from
adjusting to  external
change. But the authors of
the report are correct about
the drawbacks of the more

110 unstable and less technical-
Iy oriented British pattern.
And they are right in con-
cluding that the two coun-
tries do not merely have dif-

115 ferent career systems but
also, in effect, different ways
of doing business.

FINANCIAL TIMES
World business newspaper.
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Vocabulary tasks

A Words with similar or related meanings

1 The article mentions the ‘gulf’ (line 5) which separates managerial behaviour in German and
British companies.

a) Does the word ‘gulf’ suggest a big or small difference?
b) Find two other words in the first two paragraphs of the article similar in meaning to ‘gulf’.

2 The study is mainly concerned with middle managers. What words can be used to describe
managers at levels above and below middle management. One example is in the text.

3 The article mentions that thirteen British managers ‘had held their current job for less than
two years’ (line 82).

a) What word could replace ‘current’?
b) Think of two other words with the same meaning as ‘job’. One is in the article.

4 Many of the British managers had also moved between unrelated ‘departments’ or “functional
areas’. Two examples are given in the text (line 89). Can you think of at feast four other
‘functional areas’ in a typical company?

B Collocations

1 Find at least three adjective—noun collocations in the text which create a negative impression
(e.g. severe problems).

2 Match these verbs and nouns as they occur together in the text.

a) pose change
b) carry o:t\—— problems

c) solve jobs orT fla ns
d) undergo a position *hah- *a@ bf?gl‘d FOOm
2 st Uisweek notthetaile

Theyve |
Teolganise] agary
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C Word search
Find a word or plrase from the text that has 4 simitar meaning.

1 wark closely with another company (para 1)
c..Ollaborate

............ FE

2 skill of being a manager {(para 2)

Cornrrnnins e, VIR

4 structure of an organisation with its differant levels {para 3)
o P 4 T

5 companies that you are working closely with (para 4)
Prveeeenearriaren.s Coeemmeeamrinaanan

6 problems which are not complex or difficult (para 4}
Feeieeeieerinns Plrvermereneaniaas

7 position of being a manager (para 4)
1 P Frneeemmeeeeenes

D Word families

Complete the chart T

verb adjective h Toun

manage managerial manager

manage management management

.. Know . knowledgeakble T
organise L RETTTTUT TN Yoviiororniiininnn,
ST B, adjustment

T et B collaborator

1 From what you have read and heard, do you agree with the points made in the text?

2 Tryou have experience of working with managers from countries such as Japan, Sweden, USA or
e France, how would you describe their approach to management and organisation?

3 W you weve going to collaborate with 2 Britsh or German company, what could the potental
problems be?

4 Write a short report giving suggestiens and recommendations on ways to try to avoid or reduce
these problems.
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I Before you read

Discuss these questions.
1 What are the most popular subjects to study at universities and colleges in your country? Why?
2 Ifyou wanted to find out about job opportunities or vacancies at a large company or international

organisation, how would you do it?

B Reading tasks

A Understanding main points
1 Which of these statements gives the best summary of the text on the opposite page?

a) A global company needs to recruit globally.
b) The internet will revolutionise the way new employees are recruited.
c) Engineering is the discipline of the future.

2 Mark these statements T (true) or F (false) according to the information in the text.

Find the part of the text that gives the correct information.

a) DaimlerChrysler is the largest employer in Baden-Wurttemburg. F

b) Daimler Chrysler employs more people in Baden-Wurttemburg than in other parts of Germany.
¢) The company plans to increase its investment in research and development.

d) DaimlerChryslers’ policy is to recruit engineers in Germany whenever possible.

e) DaimlerChrysler uses the Internet in its recruitment campaigns.

f) BMW is a more attractive company to work for.

g) Not enough students study engineering in Germany.

h) DaimlerChrysler is planning to set up its own technical university.

B How the text is organised

These phrases summarise the main idea of each paragraph. Match each phrase with the correct
paragraph.

a) the need to recruit engineers globally to meet it’s business targets

b) the lack of engineering graduates generally

¢) DaimlerChrysler’s position in the state of Baden-Wurttemburg paragraph /
d) the need to compete with other companies to attract new recruits

e) DaimlerChrysler’s business targets

f) use of the Internet for recruitment

g) DaimlerChrysler’s plans to support private universities

h) another recruitment approach
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DAIMLERCHRYSLER: Star is reminder of proud auto heritage by Jeremy Grant

Where have all the engineers gone?

For the past year Daimler has been part of the grouping with American manufacturer Chrysler. The German
company’s roots go back to the very first days of motoring.

pany with the state of Baden-
Wurttemberg it is the automo-

tive group DaimlerChrysler. The
5 group was formed in 1998 through
the merger of Daimler-Benz and
Chrysler of the US. But the local
association dates back to the late
1890s, when Daimler and Benz

10 began the automotive age by pro-
ducing the world’s first motor cars.
DaimlerChrysler is one of the
mainstays of the Baden-
Wurttemberg economy, sustaining

15242,000 people in employment
across Germany - the bulk of them
in the state.

To extend its global reach, the
company has ambitious plans to

20 grow in the automotive business,
and will invest €46bn developing
sixty-four new cars and truck mod-
els in the next few years. Research
and development spending is set to

25 soar to what a spokesman says is ‘a
market leading position’. This year
the company aims for sales of
€146bn, compared with previous
forecasts of €139.9bn.

30 One of the most critical issues
facing the group as it attempts to
achieve those targets is where it
will find, in sufficient numbers,
people with the right qualifica-

35 tions to make it all happen. Baden-
Wurttemberg and Germany alone
will not be able to provide enough
recruits. ‘DaimlerChrysler needs
to hire 4,500 engineers and IT peo-

If Germans associate one com-

40ple in the next three years,’ says
Marc Binder of Human Resources.
‘That’s a big number and it will be
impossible to find enough of them
in Germany, let alone in one
4sregion. You have to hire them from
the top schools in the world.’
Traditionally, Daimler-Benz
always recruited engineers within
Germany. In 1999, however, its
S0recruitment campaign went global.
Part of the impetus was that the
transatlantic merger had broad-
ened the spectrum of job opportu-
nities. Using the Internet,
ssDaimlerChrysler issued a blanket
invitation to college graduates
around the world - with emphasis
on mechanical engineering,
process technology and aerospace
60engineering - to attend an open

day at eleven DaimlerChrysler 100

locations around the world. Of the
800 who attended, about 55 per cent
were invited for interview - a far

65higher proportion than in previous
recruitment drives,

A few months later, the group
launched a novel campaign to
attract recruits for its

70International Management

bound to increase. Rivals such as
80 BMW, in neighbouring Bavaria,

have similar needs. But Mr Binder

says: ‘We try to convince would-be
recruits that we're the most global
company and it’s more interesting
85to work at DaimlerChrysler in this
exciting period after the merger.’

Recruits are also offered opportu-

nities to work in different units of

the group.

90 The recruitment problem has
been made worse by a steady
decline in the number of students
electing to study engineering since
the early 1990s — when there were

95too many newly-qualified engi-
neers entering the market. Large
numbers of students chose to
study other subjects, leading to
today’s shortage.

DaimlerChrysler is supporting
initiatives to try to ensure a steady
flow of engineers and graduates
from other technical disciplines.
Over the course of the next few

105 years, the group will be supporting

the establishment of two private
universities in Baden-
Wurttemberg - the Stuttgart
Institute of Management and

Associate Program. It advertised 110 Technology and the International

in the international press, inviting
would-be trainees to call a compa-
ny hotline during a four-hour peri-
750d over two days. Some 200 appli-
cants were interviewed.
Competition for talent from
other large industrial groups is

University  of
Bruchsal.

Germany in

FINANCIAL TIMES

World business newspaper.

DAIMLERCHRYSLER
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Vocabulary tasks

A Synonyms

1 The writer uses three different words to describe an institute of higher education. What are
they? Are they exact equivalents?

2 Two words are used many times with the meaning of ‘to find and employ new people’.
What are they?

3 The word ‘campaign’ is used twice in the article (lines 50 and 68). What other phrase is used
with a similar meaning to ‘campaign’?

4 ‘about 55 per cent of graduates who attended DaimlerChrysler’s open day were invited for
interview’ (line 63).
a) What other word is used in the arficle with a similar meaning to ‘about™?
b) Think of at least three other words or phrases to give the idea of approximation.

B Word search

1 The article deals mainly with the theme of recruitment. Find at least ten words or phrases in the
text connected with the idea of recruitment

2 The writer uses several phrases to express the idea of time, either as an approximate date, e.g.
‘the late 1890s’ (line 8) or to describe when something will or did happen, e.g. ‘in the next few
years’ (line 23). How many similar time expressions can you find in the article?

C Complete the sentence
Use an appropriate word ar phrase from Exercise A or B to complete each sentence.

1 Due to rapid expansion the company had to carry out an extensive .. [¢Cuifment. campdign. ...
to hire new employees.

b Y| R e G S R S (A very few people knew much about the Internet.

kST USSR the next few years the use of the Internet is bound to expand even
more

4 There are literally hundreds of business «......ccvvvieviriiviiiininienennnn, around the world offering
MBAs.

5 Many COMPANIES NOW «.cuuveninirianmnssonnnnnesennennns new job vacancies on the Internet and in the
press simultaneously.

B v onsviseimne R T graduates in subjects such as information technology have a lot of

opportunities for their first job.

7 Our recruitment campaign was so successful that we had over 100 .......oceeveeninieiiiiniiinienenennn,
far each jah.

8 We usually invite about 5 per cent of those who apply to COMe fOr .......vueeriviirervreenenniiennaan, ,
so we can meet them in person.

9 AnMBAisoneofthebest ......c.ccevivievriiiienninininnnn. for an international management job.
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D Expanding vocabulary

1 The article focuses on the subject of engineering. There are many different branches of
engineering. Two are mentioned in the article — mechanical engineering and aerospace
engineering (line 58). What other branches of engineering can you think of?

2 The article mentions that there is a ‘steady decline’ in the numbers of engineering students,
leading to a ‘shortage’ of potential recruits (line 91).

a) Think of at least two other words similar in meaning to ‘decline’.
b) Think of at least three words with the opposite meaning.

¢) Think of at least one word equivalent in meaning to ‘shortage’.
d) Think of at least one word with the opposite meaning.

E Definitions
Match these terms with their definitions.
1 mainstay (line 13) a) aninfluence that makes something happen
2 global reach (line 18) b) people who want to enter a training programme
3 setto soar (line 24) \ ¢) anew and imaginative way to recruit

4 impetus (line 51) d) having a presence all over the world

5 broadened the spectrum of job e) an offer open to everyone
opportunities {line 52) f) about toincrease a lot

6 blanket invitation (line 55) g) increased the range of possible jobs

7 anovel campaign (line 68) h) most important part of something

8 would-be trainees (line 73)

1 Imagine you work in the Human Resources department of a large international company such
as DaimlerChrysler. You are attending a recruitment fair at a major university. Prepare and give
a presentation about the company and the career prospects for university graduates.

2 You have seen a list of jobs advertised on the Internet by an international manufacturing
company — they want to recruit people for technical, commercial and administrative positions.
Write a letter of application, specifying which kind of vacancy you are interested in and
mentioning your relevant qualifications and experience.

3 Look at the websites of some well-known international companies. Describe their approach to
recruitment using the Internet.
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) Before you read

Discuss these questions.

1 What are the different methods a company can use to find new employees? Which are you most
familiar with? Which do you think are most effective?

2 What are the most common selection methods used by companies and organisations in your country,
(e.g. interviews, intelligence tests)? Do you think selection methods vary from country to country?

| Reading tasks
A Understanding main points

Mark these statements T (true) or F (false) according to the information in the text on the
opposite page. Find the part of the text that gives the correct information.

1 Many international organisations have decentralised selection. T

2 They look for different personal qualities in different cultures.

3 The ‘SWAN’ criteria have international validity.

4 The definition of some qualities can lead to cultural misunderstandings.
5 Mobility and language capability are clearly understood across cultures.

B Understanding details

The text states that different cultures look for different qualities when selecting personnel.
Match the cultures with the qualities or attributes according to the text

1 Anglo-Saxon (UK, USA, Australiaetc) ¢, f
2 Germanic

3 Latin

4 Far Eastern

a) being able to fit in with the organisation

b) having the relevant kind of education for the job

€} having the right intellectual of technical capabilities
d) having good interpersonal skills

e) having attended the ‘top’ universities in the country
f) being able to carry out relevant tasks and jobs

C Word search

Find at least five methods for testing or assessing a candidate’s suitability for a job (e.g. assessment
centres) which are mentioned in the text.

48]
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Recruitment and Selection

Approaches to selection vary sig-
nificantly across cultures. There
are differences not only in the pri-
orities that are given to technical
5 or interpersonal capabilities, but
also in the ways that candidates
are tested and interviewed for the
desired qualities.
In Anglo-Saxon cultures, what
10 is generally tested is how much
the individual can contribute to
the tasks of the organisation. In
these cultures, assessment cen-
tres, intelligence tests and mea-
15 surements of competencies are
the norm. In Germanic cultures,
the emphasis is more on the quali-
ty of education in a specialist
function. The recruitment process
20 in Latin and Far Eastern cultures
is very often characterised by
ascertaining how well that person
‘fits in’ with the larger group. This
is determined in part by the elit-
25 ism of higher educational institu-
tions, such as the ‘grandes ecoles’
in France or the University of
Tokyo in Japan, and in part by
their interpersonal style and abili-
30 ty to network internally. If there
are tests in Latin cultures, they
will tend to be more about person-
ality, communication and social
skills than about the Anglo-Saxon
35 notion of ‘intelligence’.
Though there are few statistical
comparisons of selection practices

S B il

used across cultures, one recent
study provides a useful example of
40 the impact of culture. A survey
conducted by Shackleton and
Newell compared selection meth-
ods between France and the UK.
They found that there was a strik-
45ing contrast in the number of
interviews used in the selection
process, with France resorting to
more than one interview much
more frequently. They also found
50 that in the UK there was a much
greater tendency to use panel
interviews than in France, where
one-to-one interviews are the
norm. In addition, while almost
5574 per cent of companies in
the UK use references from
previous employers, only 11 per
cent of the companies surveyed
in France used them.
60 Furthermore, French companies
rely much more on personality
tests and handwriting analysis
than their British counterparts.
Many organisations operating
65 across cultures have tended to
decentralise selection in order to
allow for local differences in test-
ing and for language differences,
while providing a set of personal
70 qualities or characteristics they
consider important for candidates.
Hewitt Associates, a US com-
pensation and benefits consulting
firm based in the Mid West, has

e S gl

75 had difficulties extending its key
selection criteria outside the USA.
1t is known for selecting ‘SWANs’:
people who are Smart, Willing,
Able and Nice. These concepts, all

80 perfectly understandable to other
Americans, can have very differ-
ent meanings in other cultures.
For example, being able may mean
being highly connected with col-

85 leagues, being sociable or being
able to command respect from a
hierarchy of subordinates, where-
as the intended meaning is more
about being technically compe-

90 tent, polite and relatively formal.
Similarly, what is nice in one cul-
ture may be considered naive or
immature in another. It all
depends on the cultural context.

95 Some international companies,
like Shell, Toyota, and L’'Oréal,
have identified very specific quali-
ties that they consider strategical-
ly important and that support

100 their business requirements. For
example, the criteria that Shell
has identified as most important
in supporting its strategy include
mobility and language capability.

105 These are more easily understood
across cultures because people are
either willing to relocate or not,
There is less room for cultural
misunderstandings with such
qualities.

From Managing Cultural Differences, Economist Intelligence Unit

-
\O
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Vocabulary tasks

A Synonyms

1 The word ‘selection’ is combined with a number of other words, all with similar meanings
{e.g. approaches to selection). Find four other combinations starting with ‘selection’.

2 The word ‘skill’ is often used in connection with job performance. It can be defined as ‘the
ability to do something well, especially because you have learned and practised it’. In the text,
several other words are used with a similar meaning. What are they?

3 The acronym SWANs (line 77) stands for ‘people who ave Smart, Willing, Able and Nice’.
Depending on the context, these words can have different meanings. Match each word with one

of the SWAN words.

a) charming nice i) well-dressed
b) helpful i) pleasant

) clever k) eager

d) friendly 1) intelligent
e) sociable m) beautiful

f) competent n) neat

g) enthusiastic 0) kind

h) enjoyable p) skilful

4 Which words from the list have exactly the same meaning as the SWAN words in the text?

B Linking
Use an appropriate word or phrase from the box to complete ¢ach sentence.

forexample though whereas inaddition similarly

1 The Internet is changing the way that companies work; Jor example | some use their website to
advertise job vacancies.

2 Some companies use newspaper advertisements in the recruitment process, ...........cc....... others
prefer to use consultants,

3 With the boom in hi-tech industries, well-qualified software specialists are difficult to find;
................... , in the automotive industry, there is a shortage of engineering graduates.

4 To get good management jobs, an MBA is now often a requirement; ............coeuvee. , knowledge of
two foreign languages including English is increasingly demanded.
5 Theinternet is being used more and more as a recruitment tool, .......occeveunen there are few

statistics available yet about how successful it is.
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C Definitions
Match these terms with their definitions.

S W N e

assessment {line 13)
the norm (line 186)
ascertaining {line 22)
elitism (line 24}

striking (line 44)

compensation and benefits (line 72)

1 Make a list of qualities or skills that you think an international rnanager should have.
Diivide your list into technical skills and interpersonal skills.

L]

ekl
7

B

a) finding out
b) noticeable

¢) pay and canditions

d) evaluation

&) usual, standard

f) concern for status

What are the best ways to measure or evaluate technical skills?

How can you measure interpersonal skills?

Loak at the chart showing selection methads in different countries.

Parcentage use of selection methods in six different countries

Method of setection UK  France Germany fsraef Norway  Netheriands Al
Interviews 32 97 g5 84 93 93 93
References/recommendations 74 38 23 a0 - 48 43
Cagnitive tests 1 33 21 - 25 21 22
Fersonality tests 13 38 G - 16 - 18
Graphology 3 52 - 2 2 24 13
Work sample 18 16 13 - 13 5 13
Assessment centres 14 g 10 3 10 - 8
Bicdata 4 1 8 1 8 - 4
Astrology - 6 = 1 - - 2

Source: Robertson and Makin {1983)

[magine you are an 1R specialist in an international company. Use this information to make a
presentation about selection methods the company should use in Notthern Europe.
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